On 19 07 2012 Bill McKibben’s ‘permissible Carbon Emission Budget’
was 154 Gigatonnes Carbon [Gt C] and shown under the red-line.

On 20 07 2012 Bill McKibben’s ‘permissible Carbon Emission Budget’
became 267 Gigatonnes Carbon [Gt C] and shown in yellow.

About the first figure he says ‘do the maths’ and here it is: -
http://www.gci.org.uk/Documents/McKibben_the_Needed_Maths_.pdf

Doing the maths with the second figure it means
he says that actually an extra 73% or 113 Gt C is ‘permissible’.

All T am saying is ‘that is a significant self-contradiction’
which undermines the value of the work he does.

He chooses not to discuss it.
More detail at: - http://www.gci.org.uk/misc.html
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